
SAP ABAP table CRMT_BSP_IOB_ISA_ODC_VEHICLE {Vehicle Complete structure}

CRMT_BSP_IOB_ISA_ODC_VEHICLE

LPCOUNTR [CHAR (3)]

LPREGION [CHAR (3)]

PRICE_C [CUKY (5)]

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]
 CRMT_BSP_IOB_ISA_ODC_VEHICLE-LPCOUNTR = T005-LAND1 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 CRMT_BSP_IOB_ISA_ODC_VEHICLE-LPREGION = T005S-BLAND 
0..N0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CRMT_BSP_IOB_ISA_ODC_VEHICLE-PRICE_C = TCURC-WAERS 

0..N

0..N


